GENERAL SCIENCE / SAMPLE PAPER — 05

1.Which of the following metals is used in Space Crafts to withstand high temperatures?

foe=T & @ b &1 T 3T 3iaReT [RIed & 3T2 dT9#T 1 Q=T el o forT foham

AT 8°?
(A) Pb
(B) Ti
(C) Fe
(D) Ni

Titanium alloy, which has high corrosion resistance, high specific strength, and good heat
resistance, is used for different spacecraft parts including outer fuel tank sheathing and
wings. It is extremely strong at high temperatures.

erseiorad Ay arg, fores 3T @eRer gfay, 3Tu faftise ofea 3R sreor ot
IR giar &, &7 3uAier ed) Sue & N9 3K gwt afga Rffesr 3iaRey a=
AT & U foRar ST §1 ¥8 3T dI9A W 986 AT 8T gl

2. The cells which are responsible for the production of antibodies are
TEIEIST & 3T oh [olT [ATFAGR ITARIT §

(A) Red blood cells/ @TeT Tercl ShITRIATT

(B) Neutrophils/Fq‘@ﬁW

(C) B- Lymphocytes/ T- ﬁzcmm

(D) T- Lymphocytes/ B- WW’IB?:H

Antibodies are proteins released by B-cells that target and work against specific antigens.
These B-cells are a type of lymphocytes and hence are also referred to as B-lymphocytes.

TGSl d-HIfARHT GaRT I TN gl & ot [afdrse et & & afara
IR F1H FA & T M-RRFT th yhR H Epaeey § 3R safor s €
foFmrarsed off Fgr ST g1
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p - . Antibody-secreting ; g
Antigen  Activation of Prollferatlon leferentlatlon plasma cells e
recognmon B lymphocytes . g :c:egoz

Naive
IgM*. IgD* Ig?eﬁxpressmg "(j:lg
B cell Activated
Isotype
switching
=
High-affinity .
A Ig-expressing v}rgf'f?rmt G
; /| B cell x% Y9
Affinit
Helper T cells, O maturati‘;n
other stimuli
Memory
B cell

3. The cells of the collenchyma tissue become thick at the corners by

PIIRISHT 3T T PITABIT H HIAT AT G AT & |

a) pectin and chitin/ 9TdesT 3K Rfes

b) Suberin and CeIIquse/ﬁaﬁHﬁTWﬁ
c) Cellulose and Pectin/@?ﬂ\?ﬂTﬁ}ﬁTﬁ%
d) lignin and chitin/ farfdstet 3iR e

Collenchyma tissue is composed of elongated cells with irregularly thickened walls. They
provide structural support, particularly in growing shoots and leaves. Collenchyma cells are
usually living, and have only a thick primary cell wall made up of cellulose and pectin.
Thickening is mainly due to pectin in collenchyma.

Collenchyma 3de ATAIAT 7 & AT SIART & AT el HIFARIBT & FoAT gicm
g @ EXeATCHR FECT Jelel Il &, [y &0 & Fed g AR gt #
Collenchyma SIfAHIT IMHAR I hfad gt g, 3R a4 {-\lv%l‘\ﬁ\ld IR ofFea &
Soll Shdel Teh A WIYAS HIRIST AT I 81 AT gl &I & A HlclohlgAT
# 9fFesT & FROT g B
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Wall Thickenings

/

Nucleus

Primary cell wall
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corners)

Figure : COLLENCHYMA; A-TRANSVERSE SECTION;
B-LONGITUDINAL SECTION
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4. The lining of the mouth is made up of

e HT R AT N |

a) Ciliated columnar epithelium/ fafa3es iR tRAfoTs
b) squamous epithelium/ 99aIgR 3Yehell
c) Stratified squamous epithelium/ Q—T—Iﬂ;ﬁ TFaAT viadferae

d) stratified columnar epithelium/ {-di\lclgd TdH 3Uhell

Simple squamous epithelium: It is a single layer of flat scale-shaped cells. This tissue makes
up the inner lining of the mouth and blood vessels. It also makes the mesothelial lining of
the body cavities.

Ciliated columnar epithelium tissues are found in the fallopian tube and parts of the
respiratory system.

Stratified squamous epithelium tissues are found in the organ system where the body
comes into close contact with the outside environment.

Columnar epithelium tissues are found in the stomach and intestines.
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Tl TFaAd TOAfers: I8 Folc Thal & TR HI RIFABBT A Th W gial
gl ¥g S HE IR I arfgehi3i 1 IJTARS R SaTar g1 Tg R v Igrsit
$r AarAfoge aXd ot ST g
fafeses #ierR Tdfod Sdsw helliger cg 3R w@qe yorell & Fo gedt
H 9T ST g
TS TFIAT TOATAIH Fcieh 3{eT YOIl # 9T Sd § 781 IR a8l
aTdTeRoT & e us & 3T &
TAHFR 3Uehell Fde Ye 3R 31l & 9w I £

Types of epithelial tissues

Name ] Appearance (diagrammatic) Location Sturcture Function
Squamous Inner surface of | Thin, small, flat |Selective
epithelium mouth, cells form transport of

oesophagus, semipermeable | substances.
blood-vessels, |membrane.
alveoli
Stratified Outer layer of | Many layers of | Prevention of
epithelium skin cells wearing of
organs,
protection of
organs.
Glandular Inner layer of | Cells contain Secretion of
epithelium skin, etc. vesicles packed |sweat, oil
with secretory | (sebum),
material mucus, etc.
Columnar Inner surface Column-like tall |Secretion of
epithelium (mucosa) of cells. Upper free |digestive
intestine, surface bears juke,
alimentary folds made of | absorption of
canal these cells at nutrients
places of
absorption
Ciliated Inner surface of | Upper free Push mucus
Epithelium respiratory tract | surface of cells | and air
bears minute forward to
hair-like keep the air
processes passage free
Cuboidal Tubules of Cells are Reabsorption
epithelium kidney cuboidal of useful
(nephron), materials from
salivary gland urine,
secretion of
saliva

5. The important metal used with iron to make it rust-free —

SATg ST STIT FHercl TaTlel & ToIT TGYaT T ST aTell HgeaooT 4Td-
(A) AIuminium/UWﬁﬁ'q?T

(B) Carbon/ Sl&eT

(C) Chromium/ ShITHEIH

(D) Tin/ fe=T
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Stainless steel- Stainless steel is a group of iron-based alloys. It contains approximately 11%
chromium in a composition. Chromium prevents the iron from rusting and also provides
heat-resistant properties.Different types of stainless steel include the elements

Carbon (from 0.03% to greater than 1.00%).

Nitrogen, Aluminium, Silicon, Sulfur, Titanium, Nickel, Copper, Selenium, Niobium,
Molybdenum.

T Tl TeeTold Fhel ol W TR A arg3i 1 v g g1 3987 U
AT H TIAHIT 11% PITAIA 81T &1 PIAIA g H ST Hd T Ahal & 3R
AT GfeRIE o7 8t gereT ar §1 e JeR & weod T # wee (0.03%
) dea A g1 1.00% & 31f8e)|

Alferesa# |

6. A steam engine converts the heat energy of steam into .

Teh {1 SoleT 1Y Y FHT FaT # afRafdd aarg|
(A) Electrical energy/ ﬁag?rm‘r

(B) Chemical energy/ AT Fall

(C) Mechanical energy/ TTTaeh Fail

(D) Thermal energy/ AT FaiT

Steam engine: The heat engine that converts heat energy of steam into mechanical energy
to perform many works is called a steam engine. When water is heated under pressure, it
results in the formation of steam. Steam engines utilize the energy of the steam generated
to perform mechanical functions by using it to push a piston which leads to motion.

T SoTeT: A SSAT Solel Sl HIT HI FSHIT Foll Pl Hs HA Hld o [T ifAh
Foll A aRafdd AT g, HTT Sole] Hedlldl gl ST Tl HI gard H I fohar Srar
g, dl SHA HIT FoAdT g1 TEH Soled Teh [T Fl UFHT ¢l & fIT i HAf
P I & AT 3cuead HTT T FAT HT 3TN FA ¢ o gy fd gl gl

7. Which one of the following is not correctly matched —

A RIR 3 & e & Tl AT T -

(A) Anemometer - wind speed/ TaTHIHTEX - gaT FT 1

(B) Ammeter - Electric current/ THICT - ﬁajg?rm

(C) Tacheometer - Pressure difference/ CHIHT - TaTT AR

(D) Pyrometer - High temperature/ 9r8HIeX - 3T dTdHTeT

A voltmeter is a device which is used to measure potential difference between two points in
a circuit.

A tachymeter or tacheometer is a type of theodolite used for rapid measurements and

determines, electronically or electro-optically, the distance to target. The principles of
action are similar to those of rangefinders.
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dleeHiey Ush 3uevT § Toraeht 39T afthe & o g3t & o demmfda ek
A & o fRar Srar g1
&iefex a1 e T YR &1 REiese & Saer 39T deir & AT & fov
frar Sirar § 3R g8 U war & sogeiiaie A1 soaer-3iiftedha &7 &, &
&I gl FRa & Aeyid FwEst & JA ¢

8. Gravitational force is maximum at which of the following place?
TecdTehYUT FoT ool & & fohd TUTT WX 31T A BT &2

(A) At equator/ WWT@TW

(B) At tropic of cancer/ @dh J@T I

(C) At tropic of Capricorn/ H&T IE@T I

(D) At poles/ %g?frq?

The result is that the weight of a body on the Earth's surface increases slightly as it moves
away from the equator and toward the poles. This is because the Earth's gravitational force
is slightly less at the equator than at the poles.

SHHT IROTH Jg BT & Toh (AT @1 A g 3R ¢al &I 3R dead W g2t &
acdg W fhdl g T aofel ST §¢ ST &1 0T SEfAT § Fifeh gl &
IEcaTehyUT Sef §fdl &I Jelell H AT IWT R UIST HA g

!

,A Weight maximum
@! at poles

North pole

Center of
earth

Weight minimum
at poles

9. When the length of the conductor is doubled and the area of cross-section remains the
same then its resistance

SIS dleleh &l ol SR Y & STl § 3 36]9EY HIC ol &TFthel FAT Bl ©
ar 39eT gfarer
a) Remains the same/ 39T & IgdT &
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b) Will be doubled/ gIT=IT & SITTIT
c) Will become half/ 3TeT BT SITQATT
d) Willincrease by four times/ I ITAT EERSILELL

Explanation:

« Consider a conductor of length L and cross-section area A.
« Assume that voltage V is applied across it. Then the resistance R
depends on A and L as:

1
R o —
A

R L
« On combining these two relations, we get,

11’ B4 —1
L
R = p—
PA

« Here, the proportionality constant © is called the resistivity of the
conductor.

« If area of the cross-section are fixed and the length becomes double,

then,
2L
R =p=
A
, L
R =2 (p—l)
R' =2R

« Hence, if the length of the conductor is doubled while the area of
cross-section remain constant, its resistance also becomes double.

10. Which is the second most abundant element in the universe?
SEATS H T FeH TR cd T ATE?

(A) Hydrogen/ gT83ToTeT

(B) Helium/ gYfera s

(C) Nitrogen/ sTT8gIoteT
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(D) Iron/?—ﬂET

Helium accounts for up to 23 percent by mass of the Universe and the Sun. It is the most
abundant element in the universe after hydrogen; Helium is rare in the atmosphere because
its atoms are small and travel fast enough to escape the pull of Earth’s gravitational field. Do
note that all the other noble gases occur in the atmosphere. There is no primordial Helium.
In other words, there was no Helium from before the formation of Earth.

SeAs AN gF & gegAe & B ¥ §ifoaw 23 yfderd o g1 I8 seAs A
gISSIoleT & dlG Had WEX AT H Uil Sl dlell dcd g; Blioldd aigHse H golst
¢ FEifF 3% WA B @I € 3R gl & IRcariuT 8 % AT § g9 &
forT v oot @ amr aXd 81 ear & T 3w @t 3cpse A argHse & s
STt 81 IS 3TieH Siferas gl §1 gER Usal H, gL & Solel ¥ Uge ¥ Giforas
Ter Tl

Abundance of the Elements:

In Life On Earth In the Universe

(Earth’s crust)

Calcium Ramien; 1
THETR Al others; 1%

Phosphorus Magneshan; 2% All others

Oxygen

Helium
Carbon

Oxygen Hydrogen

11. Energy travels from Sun to Earth through

Soll G4 U g2l ceh fehdeh ATETH & AT el §
(A) Conduction/ dTefeT
(B) Convection/ TdgsT
(C) Radiation/ TafeRor

(D) Modulation/ Hﬁﬂﬁ?lﬁ
Energy is transferred from the sun to Earth via electromagnetic waves, or radiation. Most of
the energy that passes through the upper atmosphere and reaches Earth's surface is in two
forms, visible and infrared light. The majority of this light is in the visible spectrum.

fega graehir oi@i, a1 fafeor & aAread @ Foft i FF § gedr W T AR
foram Sirar g1 Jifreier Fot St a8 argAse @ R & 3R gedr i1 Tdg
qga?ﬁ%,amﬁa?ﬁ%,gauwmwnquarara:raﬁa#rarsqm
TIATT TFCH H gl
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Energy From the Sun

Most travels to Earth in the form of visible light
and infrared radiation. A small amount arrives
as ultraviolet radiation.

ULTRAVIOLET

\.. VISIBLE

"\ LUGHT

p

INFRARED N

LIGHT —

Heat Transfer

Conduction
transfer of energy between adjacent molecules

/

Convection
movement of a hot fluid

Radiation
emission of
electromagnetic rays

12. What is the trend of valency along the periods in the modern periodic table?
3T A AROM 3 3Tac & A1 FASThdT T T T 82

(a) it increases from left to right/ WW#WW%

(b) it decreases from right to left/ Ig &0 ¥ T G€ SATdT &

(c) it increases and then decreases/ H’@'EE?IT%}T‘TWUE?IT%'

(d) it decreases and then increases/ ZIFHE?IT%&T‘TWWT%
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13. The image shows an element with its atomic number and mass number.

©d Teh dled i 3Heh TATY] shaATeh 3N GeIHAT H&IT & A1 e@re g

15
P

Phosphorus
31.0

Which option arranges the element in the periodic table?

$isT I@T [y 3Tad IR & dcg Ff AT TEAT AT 82

(a) group — 1; period — 1/ g - 1; ad -1
(b) group — 5; period — 3/14?1%'— 5; 37Tad - 3

(c) group — 10; period — 1/ HHg - 10; A -1
(d) group — 15; period — 3/ HHg - 15; 3Tad -3

14. What is the chemical composition of Red Lead?

{3 o3 HI TS T FAT g ?

(A) Pb304

(B) Hgs

(C) Pbo
(D) Pbs
It is a mixed lead oxide containing Pb2+ and Pb4+ lead ions with an overall formula
of Pb304. The pigment has been artificially prepared since antiquity but can also be
found in nature as the mineral minium.

Jg U AT s 3ifFass § S8F Pb2+ 3R Pba+ o8 3T 8id ¢ foietenr
HHI FF Pb304 Bl g1 aoTeh Urdlel el & HHAA &7 § AR fhar amm §
AftreT gpfar # @frsr fAfeas & &7 7 o arr ST Hevar &

15. The following given structure is of plant cell, given the diagram mark the number
associated with position of vacuole
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fFTATEd & 1S T 9Ty hITAT 1 &, 31RE F Rieden 1 Tufa § gafoa gear

13

10.
a) 11™
b) 4TH
C) 8TH
d) 1ST

Filamentous

Plasmodesmata cytoskeleton

Small membranous

Plasma membrane vesicles

Cell wall
Chloroplast
Thylakoid membrane
Starch grain
9 Smooth
endoplasmic
Vacuole reticulum
Vacuole
_ Tonoplast Ribosomes

Mitochondrion
{mitochondria)

Peroxisome

Cytoplasm
Nucleus
Nuclear pore

Golgi vesicles Nuclear envelope

_ Nucleolus
GO|gI bOdy Rough
(Golgi apparatus) endoplasmic
reticulum

16. Chlamydomonas belongs to which of these classes?

FATASHANTT 378 F fohey ToT ¥ Frafa § ?

SHIPRA CHAUHAN@CLASS24/ GENERAL SCIENCE MOST IMPORTANT PREVIOUS YEAR QUESTIONS



GENERAL SCIENCE / SAMPLE PAPER - 05
a) kingdom plantae VACTIEr R
b) kingdom protista/wm
¢) Kingdom Fungi/ﬁﬁ'@ﬂﬁﬂﬂ'
d) kingdom monera/ﬁﬁﬁﬂmﬁﬂ

In the five-kingdom classification, Chlamydomonas and Chlorella have been included in
Kingdom Protista. Kingdom Protista includes unicellular eukaryotes.

9T TSAT & FIa0T & FolABSSHAT 3R FaRer i fhsd iferer & anfae
forar aram g1 famersa Wifewer & venRdT IRy afad g

Chlamydomonas

Flagellum Contractile vacuole

Endoplasmic

Golgi apparatus
9'app reticulum

Mitochondria
\— Nucleus

.<

Stigma
(eyespot) Membrane
Starch grains /
Chloroplast
Pyrenoid

17. The refraction of light take place in the different medium, in the given diagram the
medium B and medium A represented are

JhT2T T 3T T fHesT ATEIAT H g &, U 310 3@ & ATe"s B 3R ATCIH A FY
AT ITAT

45°

45° Medium B

300Medium A
60°

SHIPRA CHAUHAN@CLASS24/ GENERAL SCIENCE MOST IMPORTANT PREVIOUS YEAR QUESTIONS



GENERAL SCIENCE / SAMPLE PAPER - 05
a) Denser, rarer /39, Al

b) Rarer, denser /faTdl, @
c) Denser, Denser /d9e], el
d) Rarer, Rarer/ fadl, TaTer

Incident Normal
ray A N
]
A 1
|
Air d
{Rarer medium) “\!'0
Glass .

(Denser medium) ;L

Parallel sided : 4 Refracted
glass slab —9 | ray
y g
N B
(b) Ray of light travelling from an optically denser medium into air.
A N Glass Slab
\ |
.
Incident :
ray & :
' :
P
il
"o
=S
Air 4
| 4 Refracted
| A ray
I ~
|
N’ B
Normal

18. Which of these is not a function of auxin?

SeTH @ et 3T TFasT T A FTEN 82

(a) inducing callus formation/ Sheld 3TGeT T IR HIAT
(b) inducing dormancy/ GISPGEIEIREGESGI

(c) enhancing cell division/ ITRURT TTHTSTT T TSTAT

(d) maintaining apical dominance/ fI@X T cd TeITU TWeTl
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Functions of auxins

wStimulate cell division.

wStimulate cell elongation.

=Promotes apical dominance (agriculture).

wDevelops adventitious roots.

wCause tropic movement in stems and roots.
wStimulates the development of fruit.

1AA
molecule

(a) When sunlight
is overhead, the IAA
molecules
produced by the
apical meristem are
distributed evenly
in the shoot.

"

o~

>
‘-\o
2>
QQ
O
<
AN
‘9

(b) Once the sunlight
shines on the shoot at
an angle, the IAA
molecules move to
the far side and
induce the elongation
of cells on that side.

(c) Cell elongation
results in the
bending of the shoot
toward the light.

19. Nonessential floral organs in a flower are
T Gl H IR-3MaRTH o9 3T §

(a) sepals and petals/@9er 3R deod

(b) anther and ovary/ GRTaTehIRT 3R 3{ERI™A
(c) stigma and filament/ &eaar 3R Rremde
(d) petals only/ shdel TG

Petals

Pollen tube

Anther
Stamen Filament

Stigma
Style Pistil

Ovary

Pedicel

Anther and filament are the parts of male reproductive organ of flower called stamen
whereas stigma, style and ovary are parts of female reproductive organ of flower called
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carpel. They are called essential floral organs. Sepals and petals are accessory or non-
essential floral organs as they have only supportive role.

TRETRIY 3R AT GheR AHS IU & X Tolelel 3T o 1T g § Siafeh afclenmdr,
Aol 3R TERA Fol & HAGT Felel 3T & AT gl § [Slee Il FHEl ST Bl
3eg AT ST 37T Fgl AT g1 Aued AR qgf3ar ggrash A1 IR-3TavTsh o0
391 § Fifd AR dhao Gergd HfAF gl B

20. Part of the gynoecium which receives the pollen is called
TMSASTHIH HT Ig T ST TR AT T §, Fgellell &
(a) style/¥erSel

(b) stigma/f&caar

(c) ovule/ 38R

(d) ovary/ 37T

Androecium

Perianth
Corolla (composed of petals)
Calyx (composed of sepals)

Gynoecium (carpels) Androecium (stamens)

Pollen grain
Microsporangia

Stigma

Style

Ovule
(megasporangium)

Ovary

Filament

Stigma is the first part of the carpel to receive the pollen. Although the other parts also
receive the pollen subsequently, Stigma is the tip of the carpel on which the pollen lands.

WRIET e e & foT heleh el 1 Tgell 19T &1 TSI 3= 97 off a1g &
WA WIS A §, Foleh 30 el & Al § T o awer fA gl gl

21. A student performs an experiment to form aluminium chloride from aluminium and
chlorine. Which options give the chemical equation of the reaction?

Teh BT T fATATH 3R Felllied A TeATAIH FARTSS Sllel hT Teh TN AT § | hleT
& fasea ufaferar o Tamafae aeietora g2

(a) Al + Cl, = AICl,

SHIPRA CHAUHAN@CLASS24/ GENERAL SCIENCE MOST IMPORTANT PREVIOUS YEAR QUESTIONS



GENERAL SCIENCE / SAMPLE PAPER — 05
(b) 2Al + Cl; - 2AICI

(c) 2Al + 3Cl; = 2AICI3
(d) 3Al + 3Cl, > 3AICl5

Aluminium chloride is also sometimes referred to as aluminium trichloride or aluminium (l11)
chloride. The compound is formed when aluminium and chlorine are reacted together. Its
chemical formula is written as AICI3. As for physical appearance, Aluminium chloride is
usually white. However, due to the presence of contaminants (iron(lll) chloride), it acquires
a yellowish colour.

TogATHAIA Felliss H Hf-hell TegAiaad crsaeliss a1 Tegdlaad (1)
FARSS o & H & S el g1 Afdeh a9 ol § S TegfAfaasd iR ol
T {1 ARG a1 s qafas g3 Alci3 forar Srar g1 el serae
& fov, TegfATATH FelR1gs AR T The BT &1 gTelifeh, Te¥ent (ollg (I1l)
FARIES) T 3URAfT & FROT, Tg et W1 HT g ST gl

22. A researcher adds barium hydroxide to hydrochloric acid to form a white-coloured
barium chloride. Which option gives the balanced chemical equation of the reaction?

Teh AT Tthe, 13T T SRTH FARTSS TATe) & fAT grssIFell R Thas & aRTH
BISSIFATSS THITAT & | hist AT faehed Sfafhar 1 dqiod T feie Hefteror &ar g

(a) HCI + Ba(OH) - BaCl, + 2HOH

(b) 2HCI + Ba(OH), - BaCl, + 2HOH
(c) 2HCI + Ba(OH), = BaH; + 2HCl + O3
(d) HCI + 2Ba(OH) - 2BaCl, + 2HOH + O,

23. Which of the following pairs is correctly matched?
fAFfaf@d & @ Sl a1 g g gafad g?

(a) Milk of lime—sodium sulphate/ T={ T G-I STH Hothe

(b) Glauber’s salt—calcium sulphate/ TSR T ATec-hoR1TH Tothe
(c) Salt peter—potassium nitrate/ HTee YIe-UIe fATH ATSc e

(d) Gypsum—calcium hydroxide/ TTCHH-h eI §TS3IFASS

Milk of lime is a fluid made of calcium hydroxide suspended in water. chemical formula
Ca(OH)2

Glauber's salt is the decahydrate form of sodium sulfate. It is also known as mirabilite. The
chemical formula of Glauber's salt can be written as Na2504. 10H20.

SHIPRA CHAUHAN@CLASS24/ GENERAL SCIENCE MOST IMPORTANT PREVIOUS YEAR QUESTIONS



GENERAL SCIENCE / SAMPLE PAPER — 05

Gypsum is the name given to a mineral categorized as calcium sulfate mineral, and its
chemical formula is calcium sulfate dihydrate, CaSO4- 2H20.

Potassium Nitrate is a crystalline salt, KNO3

24. Two mirror are put at an angle of 60° then number of image of an object placed
between the mirrors is:

ar gyuil @l 60° & WHIUT G I@T ST &, aF guult & & W el a&q & wfdfsss

$r TETT 8

Given that:
8 =60°

Number of images = 3% —

Number of images (n) = (360/60)-1=6-1=5

25. A force of 20N displaces an object by 2 meters and does 20 joules of work. The angle
between force and displacement is —

20N T Teh §of Teh TE(] 2T 2 HIeX TaEUTAT 9 &l & 3R 20 Sef R T g | o1t 3R
e & foa AT g -

a) 60°
b) 30°
c) 90°
d) 0°

Solution: F = 20N

D=2m

W=20)

W = F.d cosf
20=20x 2 x cosf
1=2cosl

Cosf =1/2

Cos@ = cos60°

6 = 60°

SHIPRA CHAUHAN@CLASS24/ GENERAL SCIENCE MOST IMPORTANT PREVIOUS YEAR QUESTIONS



